1 Rewrite the algorithm

Algorithm 1 FJ source code

Inputs: kpin, kmax, €, initial parameters 0= {él, . ,91@ Qq,...

max ?

Output: Mixture model in Oy

1: t(<—) 0, kn,z — ktnax; EIIliIl <_ +OO
?

2: Uy <—p(y(i)|ém)7 form=1,...,kpax, and i =1,...,n
3: while k,, > knin do

4 repeat

5 t+—t+1

6: for m =1 to kyax do

7 wl) ozmugn) ( ng?" aju Sl)) Jfori=1,...,n
8 am%maX{O,(Zflwm) Iy/n

9: {a1,... an. .} {a1,..., akmx}( S )
10: if &, > 0 then

11: 0., < arg maxlogp(y wW|0)

12: u5n)<—p(y(z 0,,) fori=1,...,n

13: else

14: kn, < kn, — 1

15: end if

16: gnd for .

17: ()(—{01, Hkmx,o?l,...,dkmx}

18: ( ) «— Zz 1 log Zm, 1 Oémum)

19:  until |[L(¢) — L(t —1)| <e€lL(t-1)|
20 LIOE), V]« X 3 logdam, + 1k(N +1)logn — L(t)

m:dm>0
21: if £[0(t)73}] < Lnin then
22: Lmin L[6(t),Y]

23: Opest — O(t)
24: end if
25:  m* « argmin{d&,, > 0}, G+ < 0, kyz < Ky, — 1
m
A A N max A -1
26: {alﬂ""akmax}e{OKl?"" mmx}(Zm 1am)

27: end while

’ akmax}
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